Paper/ Subject Code: 71803 / Cost & M

N. B.: (1) All questions are compulsory carrying equal marks

(2) Support your answer with requi i
_ quired worki
(3) Round off upto two decimal points. g notes

(3) Use of simple calculator is allowed.

1. Prepare a Cash Budget for the three months ending 30™ Juné:frfgtri‘ (hé %dlio;}vriﬁv!g info
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Time: 2 Hours Total Marks: 60 - -

yrmation.

(a) Credit terms are- Sales/Debtors -10% sales are ori'cas

h; 5

0% of. ﬂie ?’_c_r,e‘di'i_»g’a}c's';ar'; collected

o DT 15-Marks

A Sallfs Materials'| -~ Wages | - 'Ovc’rhga‘dIS' e
S. Rs. | Rs: RS S

March 4D 000 900 30000( 1T -
- 1,50,000 90,000 - .-30,000 C19000 ) -
i 1,60,000 192,000 32,000 120,000 |- .-
p y 1,70,000 +1,00,000: 36,000 | . 22,000 |
une 1,80,000| .- . .1,04,000 | - .~ 40,000 | .- .23,000

next month and the balance in;the»foll'oixriﬁgﬁ'dhth;1"_':~ A
(b) Creditors — Materials 2 months "+ = &<~ ' i g
Wages Vs month. -~ = 7 =

Overheads ‘/zmonth USRS i SR o
(c) Cash and Bank balance of 1% April is expected to'be Rs.60,000. g
(d) Other relevant information are:~ .~~~ 7 o E

()  Plant and Machinery. will:be installed in February at a cst of Rs.9,60,000. The
monthly instalmeiits of Rs.12,000 ate:payable from April onwards.

(i)  Dividend @:5% on.preference:share capital of Rs.12,00,000 will be paid on 1* June.

Qll) Ad\tar'}Qe'to be received for sale of vehicles:Rs.90,000:in June.

(iv)  Dividends from investnents. ammounting to Rs.10,000 are expected to be received in
June:, P L B St

(v) ‘;‘I@'@g__lt}pi@};.v(ad\'/ar'lcc);tq:berpaid.in:‘J}m‘eii’s,‘Rs.Zr()»,OOO.

1. A factory ‘is~¢gnéQt1y;wprkmg,;at;_5Q%.,cjapqc‘i"ty‘qnd_?proauces 10,000 units. Prepare a Flexible
Budget and.estimates the Profits of the Commpany-when it works at 60% and 80% capacity and
adj\'/'_ise‘_thé,Cpinﬁany:}_\'ﬁ‘.‘60%:»ﬁ(br}§ing,»_I{awc:M'a'tjefiql‘Cost increases by 2% and selling price falls
by 2%. -At:80%, ‘Raw. Material cost incréases by 5% and selling price falls by 5%. At 50%

- capacity working the product costs Rs.180'per-unit and is sold at Rs.200 per unit.
B e it e ) {15 Marks]
.~ The-unit cost of Rs.180 is' made up.as.follows:

S Fhertal £ S RN

" Facfory Overtieads' " “Rs:30 (40% Fixed)

" Administrative Overheads - Rs.20 (50% Fixed)

g ‘Also find out Break Even-Point at the above stated capacity utilisation.

"% ", Mahi Transport:Company operates a Luxury bus, which runs between Delhi to Jaipur and back
" for 10 days'in-a month, The distance from Delhi to Jaipur is 270 Kms. The bus completes the
- tripfiom Délhi to Jaipur and comes back on the same day. The bus goes on Delhi-Agra trip for
S -fl_‘(),:days.in- a;moritli‘. The distance from Delhi to Agrais }80 Km-s. This trip 1s‘also cqmplt?ted on
S the same day,\For'}t?ﬁays of its operation in a n?om‘h it runs in the local city. Daily distance

¢ coveredmthemtyls 65 Kms. The other information is given below: 115 Mark|
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[ Particulars ~Amount (RE
Cost of Bus 4 { cyd 15 00 000 |
.| Depreciation ggo‘ép‘:} a{:g‘;{'}’]: e
! Salary of Driver g R 41000 gc: il S S
\ Salary of Conductor . '_4500 crmontl-]\ P
N\, lSalmy of Part Time Accountant | I"O 8 0 0 pp::r quarter s
nsurance S T
Diesel . : J 49 perlitre’| -
?l!;{lancc covered per litre e Pl S 8 100 o cfui’t‘: K
oken Tax -
Lubricant Oil ot 300 per100kms |
ll}cpairs and Maintenance ¥ 138005%0;?;:;:1’
ermit Fee 1 - 13,0 er | "
Normal Capacity SR AT 50persons e

The bus s generally occupied 90% of the(':apacnty wheml goes tO Ja.PUf and:80% when'it goes

to Agra. It is always full when it runs\wthm [he;cxty Passénger 1ax 15 25%: ofthe. fare:
Calculate the rate the company shou1d?:harge a passenger when“lLWﬂutS 10 earn a prof tof33%49,

on its revenue. Y i“ ”‘_i‘: o
2. The standard mix to produce onic e of product is'as follows,- AT S
Material X _60.units{@Rs:< 15per‘umt~'\‘--s, “Rs. 900 = |
Material Y. 80.units:@:Rs..~20 perdinit=" - |Rs71600 .-
Material:Z. *lOOimiis @Rs < 25 perumts* AR MRS 2500
T Vay o RN O \ 5000

During the montl
follows: AN

- Matenal X 640 umts‘@ Rs ~17 SO per. umt— 3 Rs 11,200
_|:Material Y <950 units’ @ Rs. ~18.perunit=-" | Rs.17,100
\;.; Matena] Z 870 umts @ Rs 5 ZTSO per umt = | Rs.23,925

S A 52,225

MatenalCosl vananpc AN
2 o~ Mztterxal PnceVarmnce N
3 Man:nal Usage varmnce

) ,Matenal Mu, Varxanca

Malenal Yield. Vanance

’

N

Rs~50 ang: proﬁt eamed 1S, Rs\l() permpnt
"The analysis. of cost of20 000 units is
‘:‘iMatenaI Cost - " 4 Rs.3,00,000
5 LabdurCoSt LY Rs.1,00,000
OVerhead (50% vanable) " Rs.4,00,000
“ o7 N ow are required to compute:
b3 (1) s Conlnbutlon per unit

(D) - 7Pl Ratio-. -
. (m) 'Break Even Sales in Rs.
FETGRAI (w) Brcak Fven Sales in Units

] v
3. A
>
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pompany annual]y manufacmrcs an\d sglls 20,000 units of a product, the selling price of which is

[15 Marks]



(v? Sales required to eam a profit of Rs.4,00,000
(vf? Proﬁt_ when sales is 18,000 units
(vii) Margin of safety when actual sales is Rs.7,00,000

3, Lhe Cost Sheet of a product is as follows:
_Elrticulars
Direct Material
Direct Wages
Factory Overheads:
Fixed
Variable
Administrative Expenses (Fixed)
Selling and Distribution Expenses:
Fixed
Variable
Cost of Sales .§ S
e\above coSt mformanon S

for an outphtg)f~50 000 units,
s\‘oﬁ)uymg 10,000
"0250 per unit. You

The selling price per unit is Rs. 25\ Th
whereas the capacity of the firmiis. 60 000 units; Akforexgmcustomer ‘lS desuou
units at a price of Rs.19 per unit. “The: exlra “Cost of; export g the produchs ‘R

are required to advise the manufacturer whether‘the'ord 3 should be accepted?

il

1£t§ a[terqatwe thh the given serial
EOENSIS [08 Marks]

4. (A)Rewrite the entire, sentenbew se“lebtxﬁg

no.s without altering.t 1&mrdeﬂsequen T S
o U %
1. Fixed Costs are\ﬁxed»- R SFEFS
-

(a) Totally :
(b) Per umL E:
(c) Both .
2. The Sta?ﬁard whlch can‘be aﬁamedtundel: the‘most favourable conditions possible
(a).: Iacai Standard ¢ S
(b)" Expected Sl:andar
(c)‘CuxIent Standard-

= (d)\Normal Standard :

-ﬂ\-.’

."ch fmg of the followmg 1t m-ng\'
tia1 repayments on. loa1 $;‘ $
precmtlop Charge 2T

Dmdend‘payments\ :
ds of sale “of | ﬁxed assets

le5‘ udge&shows ; Y
E’stt ate of future:s sales.

: b) EStlmqte of futiire productlon

- (6):Estimate | of, mve‘:}tory
‘(d) I\Toneﬁf the above

¢
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93, Thc object of hotel costing is to find outcost ____
(a) Per table
(b) Per room
(c) Per bed

~ (d) Per visitor

6. Garage rent is
(a) Semi variable
(b) Variable cost
(c) Fixed cost
(d) None of these

7. When sales increases then break even’|
(a) Increases
(b) Remains constant
(c) Decreases
(d) None of these

8. Overhauling is classxﬁed"a
(a) Fixed cost o ':“‘,. .‘\'
(b) Semi fixed cost_}‘,(‘ g‘Q _
(c) Maintenance cosg% L&
(d) Marginal cosb

Vo~

"7 s “‘k- -

(B)Match the folldwxﬁé Bys‘r'clw A'ting “these _
appropriate basi N

G~
¢ ,\’ /\\‘ \,‘ o

ment ACCO“““?_;:\.

overall most
[07 Marks]

Bere A\_ N.v}q, AT %
1 Contnbiftlon» ot = 9 \a.\ Con[rollablECost
2.Key’Factor--s .. b Drawn-for one level
3.,Y_F1xed:B_udet“ A RN A . 28dles’~Variable Cost
4Flexible-Budget . .~ .~ d Matgin of Safety in Value x P/V Ratio
9 “S‘bedks‘fidh‘sbbrf ANV AN .L‘lmltmg Factor
(%6 6.Costayhiich  cannot bie. !nﬂuengedf ‘Drawn for multiple levels
45 by the conccmed -Cost cenfre <j ¢ '
| T POt 5 LT AT DA

e ShortNotes o ‘any Threée
Slgmﬁcance of C(_)ntrlbunon 1
AN o
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] 2 K I:zﬂ)our Vénance

RS ‘Q les Budgel R
" 4 2 p¢rat;ng Costmg of Hospxtqh
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